Vasantraodada Patil Institute of Management Studies and Research, Sangli
BCA/BBA CET Sample Question Paper

1. Total 30 questions each question carries two marks.
2. No negative marking.

1. Q1. Which of the following is the national animal of India?

a) Cow b)Tiger c)elephant d)Loin
2. s was known as the Missile Man of India
a)Sarabhai  b)Dr. APJ Abdul Kalam c) Dr. Homi Jahangir d)None of these
3. HTTP stand for____.
a). Hypertext transfer processor. b). Hypertext Transfer Protocol
c). High transfer protocol. d) high Transfer Protocol
4. Rohan the movie before he read the review.
A watches B have watched
C had watched D was watching
5. Putin the correct Adjective/Adverb for the following sentence
You're looking very today.
a)happy b) happily c) happiest d) the happiest
6. Find the sum of first 20 odd numbers.
a) 40 b) 300 c) 400 d) 360
7. Look at this series: 36, 28, 24, 22, ? What number should come next ?
a) 22 b) 18 c)21 d) 20

8. The minimum age of the voter in India is
a) 21 years b) 15 years c) 25 years d) 18 years

9. Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Figures.

Problem Figures: Answer Figures:
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a) 1 b) 2 c) 4 d) 3

10.The cost of a table exceeds the cost of chair by 150 . If the cost of one table and two
chairs is 1500, find the cost of each .

a)Rs. 800 b)Rs. 600 c)Rs. 850 d)Rs. 950
11.Choose the word which is different from the rest.
a)zebra b) loin c) cow d) tiger

12.Put in a/an, the or -(=no article) in the following sentence
Heis honor to his profession.
a)a b) the ¢) no article d) an



